
Let’s Go Shopping: April 
 
 
Question 1:  Jessica took $45.18 to the store with her. Her bill came to $16.59.  How much 
money did she take home with her? 
 
 
Answer 1:   
$45.18 
- 16.59 
$28.59   Jessica took home $28.59. 
 
 
 
Question 2:  Riley had $10.30, but he spent $3.04 for lunch. How much money does Riley 
have now? 
 
Answer 2:   
 
$10.30 
  -3.04 
$  7.26   Riley has $7.26. 
 
 
 
Question 3:  Chelsea had $6.37 in her purse. She bought a toy for $6.10. How much money 
does she have now? 
 
Answer 3:   
 
$6.37 
 -6.10 
$ 0.27   Chelsea has 27¢ left.   


